135_lopclset
(TMaTJ2PxsVYuSaQLEpxt ECvUoKTdQn2C3Nr)

October 27, 2020

Let v2_struct_0 : t=0 be given. Let v7_struct.0 : t=>0 be given. Let
v10_lattices : 1=-0 be given. Let v17_lattices : t=-0 be given. Let [3_lattices :
t=>0 be given. Let ml_subset_1 : t=1=>0 be given. Let kl_zfmisc.1l : 1=
be given. Let ul_struct-0 : 1=t be given. Let kll_lopclset : 1= be given.
Let k10.lopclset : 1=t be given. Let v3_pre_topc : t=1=0 be given. Let
k1l _tarski : 1=t be given. Let rl_tarski : t=1=0 be given. Let vl_zboole 0 :
t=>0 be given. Let k3_tarski : 1=t be given. Let k9_setfam_1 : 1= be given.
Let k5_setfam_1 : t=1=>1 be given. Let vl_pre_topc : t=0 be given. Let
v2_pre_topc : t=>0 be given. Let l1_pre_topc : t=>0 be given. Let k7_lopclset :
t=t be given. Let ul_pre_topc : 1= be given. Assume the following.

VX0.VX1.(X0 € X1)=(ml_subset_1 (kl_tarski X0) (kl-zfmisc_1 (1)
X1))

Assume the following.
VX0.VX1.(rltarski (kl-tarski X0) X1)<(X0 € X1) (2)

Assume the following.

VX0.VX1.(ml_subset.1 X0 X1)=((vl_-zboole-0 X1)V

(X0 € X1)) (3)

Assume the following.
VX0.k3 tarski (k1 tarski X0) = X0 (4)

Assume the following.
VX0.k9_set fam_1 X0 =kl _zfmisc.1 X0 (5)

Assume the following.

VX0VX1.(ml_subset 1 X1 (k1 zfmisc 1 (kl_zfmisc_1 (6)
X0)))=(kb-setfam_1 X0 X1 = k3_tarski X1)



Assume the following.
VX0.-~vl_xboole 0 (kl_zfmisc.1 X0) (7)
Assume the following.

VX0.((—v2_struct_0 X0)A((—v7_struct-0 X0)A((v10.lattices
X0)A((v17 lattices X0)A(I3-lattices X0)))))=((v1-pre_topc (8)
(k11-lopclset X0))A((v2-pre_tope (k11 lopclset X0))A(I1_pre_topc
(k11 lopclset X0))))

Assume the following.

VX0.((—v2_struct 0 X0)A((—v7_struct_0 X0)A((v10_lattices
X0)A((v17lattices X0)A(I3 lattices X0)))))=(VX1.((
vl _pre_topc X1)A((v2_pre_topc X1)A(I1_pre_topc X1)))=((X1=
k11 lopclset X0)<((ul_struct 0 X1 = k7 lopclset X0)A(ul_pre_topc
X1 = ReplSep (toset (AX2:1.ml_subset-1 X2 (kl_zfmisc1 (kl_zfmisc_1
(k7 lopclset X0))))) (AX2: vrltarski X2 (k10_lopclset
X0)) (AX2:1.k5_setfam_1 (kT lopclset X0) X2)))))

(9)
Assume the following.
VX0.(I1_pre_topc X0)=(VX1.(ml_subset_-1 X1 (kl_zfmisc_1
(ul_struct 0 X0)))=((v3-pre-topc X1 X0)<(X1 € ul_pre_topc X0)))
(10)

Theorem 1

VX0.((—v2_struct_0 X0)A((—v7_struct-0 X0)A((v10_lattices
XO0)A((v17 lattices X0)A(I3 lattices X0)))))=(VX1.(ml_subset_1
X1 (kl_zfmisc1l (ul_struct0 (k11 lopclset X0))))=((X1 € k10_lopclset
X0)=(v3_pre_topc X1 (k1l_lopclset X0))))



